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Group EH Mock BH dpis KA dpi7
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Expression value

Wnv

0.000040
0.000030
0.000020
0.000010

Ccl7

0.00100 -
0.00080 -
0.00060 -
0.00040 -
0.00020 -

0.00075 -
0.00050 -
0.00025 -
0.00000 -

0.0300 -
0.0250 -
0.0200 -
0.0150 -
0.0100 -

0.060
0.040 -

0.020

=59

1134

0.040
0.030
0.020
0.010

0.000 -

Ccl2

0.00050 A
0.00040 A
0.00030 1
0.00020 4

0.00040 4
0.00030 1
0.00020
0.00010

lI1b

0.000100 1
0.000075 A
0.000050 4

0.00350 o
0.00300 1
0.00250
0.00200 4
0.00150 o
0.00100 4

==

Ifng

0.0100 4
0.0080 1
0.0060 1
0.0040 A

0.0020

Mock-infected

Ccl3 Ccl4
1. 0.0050 -
0.00090 - 0.0040 4
0.00070 - 0.00304 o
0.00050 * 0.0020
| 000
0.00030 -———— 0:00101— 3
Cxcl10 Cxcl16
0.040 0.00701 &
0030 8'88?8'%
0.0204 00040 1 *
0.010 7 =go= 0.0030
116 Tnfa
0.0000125 - 0.125 -
0.0000100 - i 0.1001
0.0000075 - é 0.075 -
0.0000050 - 0.050 -
0.0000025 4% 0.025-'?' :
TIr3 Tir7
*kk
0.01204—e 0.0040 4
- o.ooso-@
0.00901 ‘ 0.0020
0.0060 - 0.00104
T T 0.0000 - T *
Cds1 Csf1
3.00
250+ ° | 0.060 °
5004 0.o4o-$
1508 0.020 1 T
o

T T 0.000

Group K3 ctl Bl PLX

Ccl5
0.001004 *
0.00080 -
0.00060{ ==
0.00040 - ®
o.ooozo-% !
Cx3cl1
150' [}
1.00 -
0.50-?-
(-]
Arg1
0.000200 -
0.000175 -
0.000150 - *
0.000125 -
0.0001001-%
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0.104
=g
Csfir
0.150 7 1rr
o.1oo-$
0.050
00001 Em

=
>

Expression

b
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40 0.120 4 @
o 0.080 A
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0.025- o= 20%1° o
0.000 +——— 7
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0.000001_, “#| § 55500 L~
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0.0020
0.020 =
__™=| ooot0___ 3
Ifnb Ifng
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===
0.0254 0.0050
1134
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0.030 1
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116 Tnfa
*%*
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Group K3 ol EH PLX
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Expression value

dpi 7 - PLX5622 vs Ctrl

Wnv Ccl2 Ccl3 Ccl4 Ccl5
600 * 1.00 *kkok 0.150 * 1.00 4 *
1 - Jd a
0.901 0-757 i 0.100 1 0.801
1200 0.50 1 =8~
0.60 A . <« 0.050- 0.60 -
800 - 0.251 ' 0.40 1
0.30 1 0.00-
T T T T : T T 0.000 - T T 0.20 T T
Ccl7 Cxcl9 Cxcl10 Cxcl16 Cx3cl1
4.0 A
075 0.604 *hkk 0.80 *
757 3.0 0.100 | ==
0.40 1 0.60 1
0.50 A 2.0 0.050
i : 7 0.40 4
0.25+ 0.20 1.04 *
T T T T T T T T T T
ila b 116 Tnfa Arg1
01501 0.0120
0.01%0 0.01004 0.060- ¢ 0.150 1 = -
0.0100 ° = f 0.0080
i 0.0404 [Fo | 0.100 -
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0.020 - . 4 *
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] 0.040- + | .
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0.040 - *
0.030 -
0.020 - %
0.010 T T

Group K3 ctl BB PLX

b dpi 7 - Anti-Ly6C vs Isotype Citrl
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